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Note : Question No. 1 is compulsory, answer any FIVE questions from the remaining.

(ii) X% F¥ & T 97T H FHHAR 0 G 5T Hiford |
Solve all parts of a question consecutively together.
(iii) X% F¥7 F 79 78 8 IRE Hd |
Start each question on fresh page. :
(iv) 1 YT91371 7 37 17 #1 [ 7 3137 317are & = 2 |

Only English version is valid in case of difference in both the languages. -
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Explain the following :
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Transiting
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Fundamental axes of theodolite
(iii) TR B

.Substance bar

(iv) SshaTl
Degree of curve
(v) 9 wefig o
Upper tangent screw (2%5)
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Draw a theodolite and show its different parts.
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Write method of measuring horizontal angle by method of repetition. : (6+6)

30 g Ao 3 =01 foaRad |
Write steps of traversing by internal angles.

Fitea Frm & wreT-tan @ wgfe i S R ?

How the traverse is.balanced by Bowditch rule ? . (6+6)

e ot 1 frgr afes wemsd |
Explain theory of anallatic lens with sketch.
ST e TE ashaiel % B 20 Hiet A siiw 3 HeY T S |

Derive relationship between radius of curvature and degree of curvature for 20 m
standard chain. (6+6)
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Explain the Rankine’s method of deflection angle for setting out curve.

HohuoT I3 T BT 8 7 59 1 hTH H ST AR ? .
What is transition curve ? Why it is used ? (6+6)
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Explain method of determination of height of a distant point by trigonometric
levelling when both station point and object point are in different vertical planes.
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Explain the tunnel alignment and setting out. : (6+6)
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Werite short note on T-2 theodolite.
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Write short note on Total Station. (6+6)

8. @mﬁwﬁwaﬁwmﬁgwéﬁa1192rﬁzt%amﬁénﬁwsoc>30'%|300
et fiean 3 3% 61 e faf @ Premed % R Rreieiemse & fog o 3 a1 g
FHauet 20 2 |

Chainage of point of intersection of tangents of a curve is 1192 m and deflection angle
is 50°30’. Determine angles for theodolite by Rankine method to setout a curve of 300
m radius peg interval is 20m. (12)




